HVARRIE, oy /v RO RER

2w hNO  RFKPHS B4 $yoyh v—F A=y’ ORG

Carotol Jah—=v 65.800%
Daucene 2ty 6.670%
B —Farnesene (F) B =77Vt (E) 3.920%
Cedrene oxide TNV ARTAN 3.750%
3 —Bisabolene B-tHKRL 2.900%
v —Muurolene v =hyal 2.190%
o —Farnesene a-77VEty 1.610%
a —Bergamotene(E) a -~V ETV/(E) 1.400%
3 1-Cubebene B 1IN~V 1.340%
Limonene VeV 1.130%
a —Pinene a -t 1.130%
Daucol Aya—)u 1.070%
Myrcene N2 0.910%
3 —Pinene B -t %tV 0.640%
Sabinene L V2 0.180%
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2>>hNO  RFKPDS

WBimg  fyoyb V=8 A—'=y7 ORG
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B —Bisabolene
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VAR

68.920%
9.050%
8.710%
1.810%
1.740%
0.110%
0.090%
0.060%
0.050%
0.050%



HVARRIE, oy /v RO RER

7yhNO  RFKBCS K4 Fyuyb = A-4'=y7 ORG
3 —Bisabolene B-tHKRL 64.750%
Carotol Fah—=v 19.170%
a —Bergamotene(E) a—-~VIET/(E) 1.590%
Daucol Aa—)u 1.450%
Daucene 2ty 0.890%
B —Farnesene (E) B-77vxt (E) 0.780%
a —Pinene o 0.740%
v —Muurolene v =hyal 0.690%
Limonene Ve 0.340%
a —Farnesene a—77NVEty 0.270%
Cedrene oxide TNV AR AN 0.160%
3 1-Cubebene B 1IN~y 0.150%
Sabinene S V2 0.040%
Myrcene N4 4 0.010%

8 —Pinene Bt 0.010%
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yhNO  RFKAAS

WBimg  fyoyb V=8 A—'=y7 ORG

Carotol

Daucol

Daucene

v —Muurolene

a —Bergamotene(E)
B —Farnesene (E)
B 1-Cubebene

a —Pinene

a —Farnesene
Limonene

B —Bisabolene
Myrcene
Sabinene

B —Pinene

Jab—)u

A=)y

gty

v =hyal

a -~ WVHETV(E)
B-77Vvxty (E)
B 1=~y
a-t v
a-77vrty
JELY

B-t YRV
vty

A%

B-txv

72.490%

5.420%
3.010%
2.820%
1.830%
0.950%
0.840%
0.630%
0.620%
0.560%
0.260%
0.080%
0.060%
0.040%



